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Unit 5: Ratio and Proportion

Chapter 2: Comparing Quantltles II

Circle the correct option, A, B, C or D.

1. What is the ratio of 6.5 m to 45 cm in the simplest form!?
A 13:9 C 20:9
B 130:9 D 121:9
2.  Kristine walked for 1.5 hours and Edna walked for 50 minutes.

What is the ratio of the time taken by Kristine to the time taken by
Edna for their respective walks?

A 1.5:50 C 5:9
B 3:10 D 9:5

3. The figures are made up of blocks of area 4 cm? each.

A B

The ratio of the area of Figure A to the area of Figure B is
A 16:10 C 4:9
B 1:40 D 2:5

4. Michael sold 5 toys at $3 each. Lindsay sold 3 cards at $8 each.
What is the ratio of the money collected by Lindsay to the money
collected by Michael?

A 5:8
B 8:5 ... D
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[image: image2.png]5. The height of a table is 4 ft. The height of a shelf is 12 ft. What is the
ratio of the height of the table to the height of the shelf? Express the
ratio in its simplest form.

A 4:12 C 3:1
B 1:3 D 1:4

6. A handbag costs $84 and a dress costs $102. What is the ratio of the
cost of the handbag to the cost of the dress? Express the ratio in its
simplest form.

A 14:17 C 14:3
B 14 : 31 D 84 :102

/. The length of a flag is 3 m. Its width is % of its length. What is the
ratio of the length of the flag to its width?
A 9:4 C 1:1 -
B 4:3 D 3:4

8. A bottle holds 300 ml of water and another container holds 1/ of
water. What is the ratio of the amount of water in the bottle to the
amount of water in the container?

A 300: 1 C 3:10
B 1:300 D 3:13

9. The weight of a fish is 1 Ib 3 oz. The weight of a bunch of vegetables

is 6 oz. The weight of the fish is times the weight of the
vegetables.
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